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There are 90 questions in all. For each question | @@6&d 90 G2l0G)EEBWD ©6MES. BOGOD
four alternative answers are given marked as | Gology@mimgo (1), (2), (3), (4) ogom

(1), (2), (3), (4). From these, find the most
appropriate answer. The number denoting this
answer is there in the answer sheet against the
question number concerned. Darken the circle
with Blue/Black Ball Pen only. Record the
answers thus in the OMR answer sheet only.
Do not write anything in the question booklet
except your Roll Number on the cover page and
rough work in the space provided for the

purpose.

Directions : (Q. No. 1 to 5)

Write the missing number.

1. 6,11, 21, 36, 56, .

1) 66 2) 76
3) 81 (4) 86
2. 47,38, , 23,17, 12, 8.
(1) 34 2) 25
3) 27 4) 30

12 15 18 21 24

3' R R R S
89 86 83 80 77
Ly B y B
5 2 o Z
ENG+MAL

@PSWOBMa|SIOTI moal ey &Emo
Aflmo e0siEligiens. @RI (uElROWE®o
RO @OMICWORINIWEMO BOX HEMOO
BHN31a ISl M. 0D HAMOODD dhIGlHHINM
maud & O O HE) S L10 M1 @ @O®O®
G20aEmloMaflen O6mE. D MMId @SRl
Qljemo Mial EEeLIHIM H0jaf nadlwias
MIOD el ©ale@ouilal H0laflanid.
OOMAEBWD @P|lalshd0o OMR 9aEmE-
#0seMI@ aI®o BRSSO ).
G2 10GEBUd @OSETEI® 6N16IEN BhID Galegl®d
rilesgies 600W MMIM0, Oald QUABEIMY GCU6NE]
@SSR MOLIET MSEDIMM dbiClalldh @D
89lod MOHROMI0 af)LIBOID).

mdeGUEMBM : (¢.010G)IBM 1 M@ 5 QIOO)

flgealo@ qvoaly oR® ?

1. 6,11, 21, 36, 56, .

(1) 66 Q) 76

3) 81 4) 86
2. 47,38, , 23,17, 12, 8.

(1) 34 2) 25

3) 27 4) 30

12 15 18 21 24

3. 7 7 o~ ot ot —m
89 8 83 80 77
L B »
. 2 0 7
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4. 1, 3, 12, 60, . 4. 1, 3, 12, 60, .

1) 220 2) 360 1) 220 2) 360

(3) 240 (4) 230 (3) 240 (4) 230
5. 0, 4, 18, 48, 100, . 5. 0, 4, 18, 48, 100, .

(1) 180 2) 200 1) 180 2) 200

(3) 220 (4) 240 (3) 220 (4) 240
Directions : (Q. No. 6 to 8) MdEGUEIBM : (C.10B)TBMD 6 MIMT 8 (W)
What is the next term ? @SSO alBo af®) ?
6. JAZ, LEX, NIV, . 6. JAZ, LEX, NIV, .

(1) PUR (2) QUT (1) PUR (2) QUT

(3) PMT (4) RSR (3) PMT (4) RSR
7. ZYA, XSC, VME, TGG, . 7. ZYA, XSC, VME, TGG, .

(1) RAI 2) SAQ (1) RAI (2) SAQ

(3) RAG (4) RAJ (3) RAG (4) RA]J
8. BEH, KNQ, TWZ, . 8. BEH, KNQ, TWZ, .

1) TIL (2) CFI 1) IL (2) CFI

(3) BDF (4) ADG (3) BDF (4) ADG

ENG+MAL 4
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Directions : In questions 9 to 11 which set of | mldegwem@ : 9 M@ 11 AUOHOWIBS

letters when sequentially placed at the gaps in
the given series shall complete it ?

9. a_ab_b_bab
(1) aba (2)
(3) bba 4)

bab

baa

10. cab_a_c_bc_bc_b_ab
(1) bcbbbc (2) bcbbab
3) acacab (4) cbaaac
11. bbm_amb_m_a_ bb
(I) mbabm (

2) mabbm
3) mabam 4)

ababm

Directions : (Q. No. 12 to 20)
Choose the word which is not like the other

words in the group.

12. (1) Rabbit (2) Dog
3) Cow (4) Goat
13. (1) Vehicle (2) Train
(3) Bus (4) Car
14. (1) Violet (2) Black
(3) Green (4) Blue
15. (1) Silver
(2) Aluminium
(3) Steel
(4) Iron
ENG+MAL

G103 af® BOHHOEIBRD (HO VG
a15)6al0®@ @OMO® QAUMOG @Y CUy6eM]
aljdemnmodhjo ?

9. a_ab_b_bab

(1) aba (2)
3 bba (4)

bab

baa

10. cab_a_c_bc_bc_b_ab
(1) bcbbbc (2) bcbbab
(3) acacab (4) cbaaac
11. bbm_amb_m_a_bb
(I) mbabm (2)
3 mabam 4)

mabbm

ababm

mIdeqguoemB™ : (6.010R)eTRUd 12 Mm@ 20 6O®)

eol103joml@d  ®mMlclenimall@ oo
BHISOTI@ HAISIBD@ £H6)6NSEYD)Yb>.

12. (1) o) (2) gl
(3) oo (4) @<
13. (1) QI9aOMo (2) oM
(3) erumy (4) o0
14. (1) weg (2) O]
(3) oala) (4) el

15. (1) eaggl
(2) @nedlndlwo
() i
(4) ooyt

P.T.O.
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16. (1) January (2) March
(3)  July (4) June
17. (1) 1962 (2) 1972
(3) 1984 (4) 1988
18. (1) Kerala
(2) Bhuvaneswar
(3) Karnataka
(4) Tamil Nadu
19. (1) Eye (2) Ear
(3) Mouth (4) Nose
20. (1) Newton
(2) Bethovan
(3) Faraday
(4) Rutherford

Directions : (Q. No. 21 to 24)

The first two words indicate a certain
relationship. Pick out one word from the choices

given which indicate the same relationship with

the third word.

21. Warrior : Sword : : Butler : ?
(1) Knife (2) Axe
(3) Hammer (4) Chisel

22. Newspaper : Editor : : Film : ?
(1) Actor (2)
(3) Director 4)

ENG+MAL

Producer

Audience

MAT

16.

17.

18.

19.

20.

21.

22.

C OPY

M
1)  =mniaid (2) oodaf
(B) =eeel (4) e
1) 1962 (2) 1972
(3) 1984 (4) 1988
(1) eHmogo
(2)  EUeMuUId
(3)  HPemosds
(4) ®adl¥mos
(1)  em (2) ealaf
(3) Qo (4) oo
(1)  oygem
(2) enfleomocum
(3) noE&W
(4)  OYIOAdGAnOY

MIBCGUOETBU : (G.010B)RMD 21 Mm@ 24 QUO®)
@OBIOOD MM QIOHNIHWD B0} (alEmydh
@DOOMTOM @OSIVNIMETIE nITWe Q]S
M@HHIMY. DIMOIDO@D QUOHSIOM @OED®
@DRROTIONR @SIOOMETIED nIMweQ|s)-
OO afROII0 @OMIGRIRIMOW QUIHE)
ODOEEITINSIHE)Jcb>.

GORLOOT : QAUOMD : : Al IHHNIONM : ?
(1) aflojoo (2)
(3) uidle 4) o

G»0s08]]

al@o : ag)adlnd : : Al = ?
(1) msm (2)
(3) o lWwoHM (4)

mdmomoat
Gl HHBMD
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23. Food : Hungry : : Water : ?
(1) Flood (2) Bath
(3) Wash (4) Thirsty
24. Teacher : School : : Sailor : ?
(1) Ship (2) Garage
(3) Battlefield (4) Court

Directions : (Q. No. 25 to 28)

In the following questions each word is
represented by numerals. Using the same code

find the word denoted by a group of numerals.

25. Ina certain language ‘LARGEST is coded
as 1234567 and then how ‘EARST” can be

coded ?
(1) 52347 (2) 52147
(3) 52367 (4) 53267

26. If ‘GOAT’ is coded as 715120 and then
how can be ‘NEAT’ coded as ?

(1) 145120 2) 126120

(3) 146120 (4) 143120

ENG+MAL

C OPY

MAT M

23. ®®and0o : o_ﬂcragd” i1 mplo:?

(1) eagaeqoddo (2) ®Elenid

(3) VI (4) BY%a0o

24.  @oWydalld : dd : : MoQfldhd : 2

(1)  dpo|@d (2) wvyoco

(3) ©@avEYl (4)  GHOS®)

mIBEgUoEB™ : (6.0103)ETRMD 25 MIM@ 28 (D)

®OOY  OHOSIOWIBHOHIM G103, 60361 @D
QUOHE) Y (D Mot  ®aleoudlay
myallaflofldleniamy. @e® GHo Oal-
COWla) 2llAIOSWIRS  QUOHOIHHUWDHE
@M HMOW MVO6L dh6)ETSBY kb,

25. ‘LARGEST" agymaileom avallaflanodd
1234567 ag)mm GO
9 16WOUIl#HeOMEIT “EARST’ ag)am
QOB ag)6TBlOM ag)9i®moo ?

(1) 52347 (2) 52147
(3) 52367 (4) 53267
26. ‘GOAT ogm alosslem 715120

ag)Moem’ g aflaflanime ® el @
‘NEAT o) QIOSSIeOMm af)esBeom
agaflaflenoo ?

(1) 145120 2) 126120
(3) 146120 (4) 143120
P.T.O.
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27. If '"HOTEL’ is coded as 12, how will you | 27.
code ‘BORE’ ?
(1 8 (2) 12
3 10 4) 4
28. If ‘GIVE’ is coded as 2018522 and then | 28.

M A STER

how can be ‘PLAY’ coded as ?

1511262
1115262

(1) 1612124 )
(3) 1216124 (4)

Directions : (Q. No. 29 to 33)

The following questions are based on the diagram

given below :

Yl v N

Rectangle represents males

Triangle represents educated

Circle represents urban

Square represents Govt. employees

How many educated urban male residents

are there ?
1 4 (2) o
@ 9 4) 15

ENG+MAL

C OPY

‘HOTEL’ agymm alossleom 12 ag)om
moaljodhoenes’  avyallaflenoemesl @
‘BORE’ o) «QIOHEIOM  af)esBeom
avgaflafleanco ?

1) 8 2) 12
(3) 10 (@) 4
‘GIVE" agom uossleom 2018522

ag)omoeny avgaflaflenimmemes@d ‘PLAY’
ag)0M AodElloOm agieem myallafleando?
1) 1612124 (2) 1511262

(3) 1216124 4) 1115262

mIdeGUETB®D : (G.I03ETBU 29 MIB@ 33 (6W)

oo ol(@eom  ERIMENIHS]  ®IOY
O HOSIOWIBHOHIM E2103| 603D B OO
QG)PI®b>.

ﬂ\h9

8 \16
N
13

(a) 2I®io alieummoen aviailafleanim,

@ledHoemo  afleayosyomo
g aflaflenimmy

988060

QlyEmo MUNEAMBHe8 g2 llafleanim)
maol®mito MA#HID HAUMEHHIOO
avgaflaflanimmy

MWEESIE alrilenmm aflapepmumes
al0aUDOOOS ag)eNo ag)® ?

1) 4 2) 6

@) 9 (4) 15
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30. How many persons are neither a Govt. | 30.
employee nor educated but are urban and

not males ?
1) 4 2) 8
3) 15 4) 12

31. How many of the following are male urban | 31.
residents and also Govt. employees ?
(1) 16 (2) 13
3) 8 4) 12

32. How many of the following are | 32.
uneducated males neither urban nor Govt.
employees ?
1 7 2 12
3) 15 (4) 18

33. How many uneducated and unemployed | 33.
urban males are there ?
1) 6 (2) 15
(3) 8 (4) 4

ENG+MAL

M A STER

C OPY

MRHHD ZlAMHHOEEMI, aflgpaonu-
QIBROIEMO A liDIAHBMO BOLJOBT MUD-
QOMIlHe10S ag)eho ag)® ?

MWOE®IE  AUMlengm  TVdHHID
ZAUMSHO0OW alj03eUmOd ag)(@® ?

1) 16 2) 13
(3) 8 4) 12
MNOAUIMNICWI, MAHHD Llaum-

#00068Mo,  AllayoeIMMIBRAIGMO
@RJOOS alj0UMORIOS ag)gno ag)® ?

MNOE®IG aladleniom allajoejomo
Lo ¢RoLNL[0Em all®lavmOd

ag)@® ?

P.T.O.
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Directions : (Q. No. 34 to 43)

In each of the questions the numbers in the figure
follow a certain pattern. There is a number
missing marked by ?. Find out the correct
missing number from among the four

alternatives.

“ <

0 ® e @®

36.
SN
Y/
1) 25 2) 16
(3) 49 (4) 63
ENG+MAL

10

MIBCGULOETRU : (C.2I03IETRMD 34 M@ 43 QO®)

34 0@ 43 IOOWIRE G.0l0B|6IEeldd
ol(@EWLRE Mobljdh@® &B0) (ale®yd
ol leomigs®. @oudl@  ?  agom
@OSWIRHQSIOTI® BONET B0) (Vo6
aflgiealodigiens. allgiealo®  (vo6)
®igies alledhaldd mlomio dheens@mid:.

“ T

S OB O R RN ()

36.
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37. 5 . 5 37. 5 . 5
8 9 7 8 9 7
10 7 ? 10 7 ?
400 | 378 | 315 400 | 378 | 315
1 9 2) 8 1 9 2) 8
3) 5 4) 4 3) 5 4 4
38. 38.
13 54 ? 13 54 ?
7 45 32 7 45 32
27 144 68 27 144 68
1) 8 2) 6 1 8 2) 6
3) 4 4) 36 3) 4 4) 36

»»w O 0O @ ® O 0O @

o () (63 9 @) (69
1) 14 (2) 16 (1) 14 (2) 16
(3) 21 (4) 27 (3) 21 (4) 27
40. 40.

? 6 11 ? 6 11

81 1 21 81 1 21
1) 4 (2) 141 1) 4 (2) 141
(3) 138 (4) 161 (3) 138 4) 161

ENG+MAL 11 P.T.O.
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41. 41.
(2) 49
(4) 111
42, B 6 D 42,
D 10 F
B ? E
¥ 9 (2)
®) 5 4 1
43. A B C D E 43.
2 5 10 ? 26
(1) 15 2 21
3 17 “4) 22
44. Day after tomorrow is the birthday of | 44.
Lakshmi. Next week on the same day is
Deepavali. Today is Sunday. Then day
before Deepavali will be :
(1) Monday (2) Tuesday
(3) Wednesday (4) Thursday
45. Pointing a man Leena said - ‘his wife is | 45.
the only daughter of my father.” How was
that man related to Leena ?
(1) Brother (2) Uncle
(3) Son (4) Husband
ENG+MAL 12

M A STER
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M
81 121
?81
(1) 89 (2) 49
(3) 64 (4) 111
6 D
D 10 F
? E
1 9 )
3) 5 4 1
A B C D E
2 5 10 ? 26
1) 15 (2) 21
@) 17 4) 22

QMO eldyleins allomogoe.
@OSIOMWIY .l enem Glaumo Glaloalall

@M. MMM  MOIWOIY 2l@o6M.
Blatoalel@es 6®ogy MeED Glalmo
a@@®o6em ?

(1) ®ed (2) e2oloqy
(3)  enuyad (4) alpvo

8008lem o enElaeoemla] aflm aloewmy
‘@RWORIOS BOMY af)OM] @oleM B30
80} 0Hg0em’. allm@l @WOIsINOWIes
eNITWo ag)my ?
(1) VBaOIBMM
(3) Q@B

0000
cdomoalt

(2)
(4)
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46. From 2017 May 20 to 2017 September 10, | 46.
how many days are there ?
(1) 128 (2) 109
3) 114 (4) 130
47. Minu started from her house, went 8 km | 47.
to the East, then turned to her right and
went 6 km. What minimum distance will
be covered by her to come back to her
house ?
(1) 5km (2) 2km
3) 8km (4) 10 km
48. If the difference between 30% and 60% of | 48.
a number is 60, what is the number ?
(1) 100 (2) 60
(3) 200 4) 160
49. If 40% of a number is 80, what will be that | 49.
number ?
(1) 200 (2) 220
3) 210 4) 190
50. If 40 men can do a piece of work in | 50.
30 days, then in how many days 50 men
can do the same work ?
(1) 28 days (2) 25 days
(3) 24 days (4) 26 days
ENG+MAL 13

M A STER

C OPY

2017 0@ 20 oy®@ 2017 &rvajoenid 10
QAUOD ag)® BlarveTBUd eene ?

(1) (2)
() (4)

128 109

114 130

olmg @em@ aflgl@ mlmmgo 8 .ol
BHPCHNOS GalOoWEUaHo QIRIGEMOS
@lclemm)’ 6 &l.all. calol. aflglealy’
@ @162 EHOMIW BHIOETME) ag)(® BJ00
allny qveri@leeemo ?

(1)
(3)

5 &0 2 .0l

(2)

8 &sl.0ll. (4) 10 &l.al.

B80) MoaljWins 30 w®maOMAallo
60 LomDOMAljo ®OTIRB] Qlj®OaVo
60 @OWO@ @Y o6y af® ?

(1) (2)
() (4)

100 60

200 160

80} Moaljies 40% 80 @6EME:ITd @D
o6y oR® ?

(1)
(3)

200 220

(2)

210 4) 190

60} 62208l 40 BYWHHRHE) 30 BlMeTBId
OHINE 6).21QJOMd MOUlHEIODE:I@ E0EM®)
62202l 50 Galdds) ag)@® GlMETRUD Ot06NE
6219 muoullenio ?

(1)
)

28 dlmevsd 25 3lmevsud

(2)

24 GlmnevB0d (4) 26 GlmetBwd

P.T.O.
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Directions : (Q. No. 51 to 54)

In the following diagram there are three
intersecting circles, each representing certain
section of people. Different regions are marked
from A to G. Read the statements in questions
51 to 54 and choose the letter of the region which

correctly represents the statement.

Bengalis a Painters
a Dancers

51. Bengalis who are painters but not

dancers :
(1) B (2 C
@) A 4) D

52. Painters who are neither Bengalis nor

dancers :
1 C (2) D
@) E 4) F

53. Bengalis who are dancers but not

painters :
1 B (2 E
@ C 4 D

54. Bengalis who are painters as well as

dancers :
(1) D (2) F
@ C “4) G

ENG+MAL

C OPY

MAT M

MIBCGUOETBA : (C.0103)EBRMD 51 M@ 54 QO®)
®O6Y OMHISIEWIE]HHIM oNl(@ET@ ;mjem
MOAUBHIM  AULYODETBEOEMISRD. B30GOINM0
80600 Qlleoto @OWRH6e M2 flalleanimm,.
alaflw BIWeMHD A M®m@E G AUOOWISS
@OHHOEEREOEd V32 flaflofldleniamy. 51 oym@d
54 Q1OO®IER G2l0BIEIEEIOAI (aIMIAIME:WD
Qoo GWato @  (MPOIAUMO®
myollaflenim EIWI®  @OHHOE O
ODEVE)GITTNSLHE) .

‘\5?9{gb %

ey

NGB D

.
2
2

51. MAODHOL0O 2N(®HOOMO0OW

6NIoWOE D
(1) B 2) C
G A 4 D

52. 6NIoMIGIHERO MDMDHEOO @OL|O DD

2 N(@®Ho0mod :
1 C 2 D
@) E (4) F
53. 2l(@H00mone|ooTn OIOOE PRI
6NIoUOE D
(1) B (2 E
@) C 4 D
54. ofl(®&»0OMO0I0 ITOQOEPIIW)
6N
(1) D 2 F
G C “4) G
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Directions : (Q. No. 55 to 61)

There is a particular relationship between the
first two pattern figures. Identify this
relationship and use this to find out the missing

figure from the answer figures.

55. Question Figures :

K)_::

Answer Figures :

(1) (2)

56. Question Figures :

2AENE

Answer Figures :

(1) (2) 3) 4)
57. Question Figures :

il 1

Answer Figures :

D |

1) (2) ) (4)
ENG+MAL

C OPY

MAT M

MIBCGULOETBA : (B10R)ETRUD 55 M@ 61 QE®)
@OEIOE® 06N (@ olal@Bleal ofl(@ensud
®oil@ B304 (IGMmd MNIMLAENE. UTWHED
HOMBOD Q@M EWaHo HEMO ©Jal6u36] @
oo Ail§iealdo® M lOBD BH6ENBED k.

55. @.210a) ail|®emd :

56. @.210@) all|®emd :

57. .10} all|®emd :

md B

om0 afl|®emdd :

D ||

(1) ) ) (4)

15 P.T.O.
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58. Question Figures : 58.
MNIAL @ ?

Answer Figures :
IANIC]]In
1) (2 (3) (4)

59. Question Figures : 59.
BB $]

Answer Figures :
1 (2 (3) (4)

60. Question Figures : 60.
K S22
D))

Answer Figures :
AR
NENSAINNEAINE

1 (2) ®) (4)
ENG+MAL 16
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@216y 2fl|meBw :

oM alil|memsdd :

1)

@218y 2fl|meBw :

&8

0O 2ll|®™evBdd :

LB B 18

1) (2)

@216y aflmeBwd :

::

0O 2ll|®™evBdd :

S5 6

1) (2)
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61.

M A STER

Question Figures :

[/

Answer

1V

(1)

AN B

Figures :

/a

(2)

) 4)

Directions : (Q. No. 62 to 66)

Read the following information and answer the

questions given below :

(a)

(b)

There are five friends, Ami, Nikita, Appu,

Nanda and Siva.

Ami is shorter than Nikita but taller than
Siva.

Appu is the tallest.

Nanda is little shorter than Nikita and little
taller than Ami.

62. Who is the shortest ?
(1) Siva (2) Ami
(3) Nikita (4) Nanda
63. If they stand in the order of increasing their
heights, who will be in the middle ?
(1) Nikita (2) Appu
(3) Ami (4) Nanda
ENG+MAL
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61.
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c2106) 2ll(®emBad :

[ LIV

MIBCGULOETRU : (B I0RIETRUD 62 MIM@ 66 QLO®)

®OeY M@MHIWIges allaloesdd alowla)
GUoaHto @OEIEMOISMENINUS 2188 §.2103)6TBD-
HEE HOMOETBUWD af) LYW .

(a)

(b)

62.

63.

@all, e, @oall, Ma3, wlal ag)|
@61 BHISldHUD TVIAOJBEBIHOS0ENT.
@O H0, DHIMCRHNID HalddHo
000 f)MO@D UTILCRHEOUD )aldheo
BHISI®EIMO6).
@afiallmoem’”  aggalio
e l0B6)0

B JSI® @D

MM3Q B MEWSNHOD @oLjo alodfo
HIOQUINE af)MOE EDACRHHID @oLjo
O I0HH0 IHISIBRIMOEN.

@DOO6M R0 ©aldHHO dhlOED
@OW ?

1)
3)

@oall
mna3

dr\leY!

(2)
(4)

Osl@

@D OIOHOOBTIMNMIMVE]2] ril@dH6))-
HQOOEMBIT DWIEBIE TIl@dHHIM®O-
0l @lH6)30 ?

(1)
()

sl®
@oal

(2)
(4)

mas

P.T.O.
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64. If they stand in the increasing order of | 64. @PQI® OALIOHOEBIMMINVE] )} fl@dH6)-
their heights, who will be in the second ? HQIOMEBIT ENSON® MIBHOHIM @
@OV ClB60 ?
(1) Ami (2) Nikita 1) e 2) Ao
(3) Appu (4) Nanda (3) @ 4) o3
65. Who is the second tallest from bottom ? 65. 6al0H0 YOI @M BMOHENWOTD
@6 E)AIOHOTIE ONSONEOD®) ?
(1) Nikita (2) Appu 1) o (2) @oal}
(3) Nanda (4) Ami (3) ma3 4) @oadl
66. Who is taller than Nanda but shorter than | 66. @@©o6M  MIBECWHNIUWD ®alodo
Appu ? HISIQ®Io ag)MOdd @oaliallemenoRd
OI0HH0 dHIOETM®INOWISR® ?
(1) Appu (2) Nikita (1) @oqll 2 o
(3) Nanda (4) Ami (3) ma3 4) @oadl

Directions : (Q. No. 67 to 71)
Choose the figure which is different from others.

o @ 2h /(\ )
NI AN
() (b) (©) (d)

1) (a) 2) (b)

®G) (© 4) (d)
68. |x O||l®@ x||x e|x X
® X/ [x OO0 x||l® O
() (b) (©) (d)

M () 2) (b)

@) (© “4) (d)

ENG+MAL
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MIBCGULOETBA : (G.L0B)TRMD 67 Mm@ 71 Q6®)

HISOTROQSOODD HEONSO.

v @ 2 /(\ )
NN AN/
(a) (b) © (d)

1) () 2) (b

G) (9 4) (d)
68. |x Ol|l®@ Xx||x e||x x
® X/ |[x OO0 x||l® O
(a) (b) © (d)

1 () (2 (b)

G) (9 CINCY
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69.

70.

71.

72.

M A STER

How many squares are there in the picture

given below ?

1
[

3) 15 (4) 18

ENG+MAL 19

MAT

69.

70.

71.

72.

C OPY

21QIOS OHBOSIOBIEBOHIM o fl(@ @YD @)
)@ VO 2IBIO6TBRD OMe ?

1
[

P.T.O.
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73. How many triangles are there in the

figure ?
(1 5 (2) 10
B 11 4 12

Directions : (Q. No. 74 to 78)

Arun and Sunil are intelligent in English and
History. Anil and Sunil are intelligent in English
and Science. Biju and Soman are intelligent in
Mathematics and Hindi.

intelligent in Mathematics and Science.

Anil and Soman are

74. Who is intelligent in English, Mathematics
and Science ?

(1) Arun (2)
(3) Sunil 4)

Anil

Soman

75. Who is intelligent in English and History
but not in Science ?

(1) Arun (2) Anil
(3) Sunil (4) Soman

76. Who is intelligent in English, Science and

History ?
(1) Arun (2) Anil
(3) Sunil (4) Soman

77. Who is intelligent in Maths, Science and

Hindi ?

(1) Arun (2) Sunil

(3) Biju (4) Soman
ENG+MAL
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MAT M

73. 21l016S edkhIS)OTIAlHeIM ofl(@@sad
)@ (@eHIMETBUWD NS ?

1) 5 ) 10
3) 11 4) 12

MdEGUEIBM : (3.210REIBD 74 DM@ 78 (IOW)
@omemo umilalio snoglatilelio o lidl@@dsialio
mad@Ooem. @omlaljo mumlalio snogladleliio
mdmilajo  madmanoem’.  enllgialio
cMOMM o MBS aljo aolas1leno
rad®mAoeM. @Il GIVOMMo dhemMdsialio
roMmilallo MaRMOMIENT.
74. enoglatflello, demdasilaljo mu@admilalio
madmATd @6 ?
(1) @ooeM (2)
(3)  ruyril@d 4)

@M@
GO

75. @M@ madmomg|  ag)Mmodd
snogladllaljo al@l(@@milego modmn-

o

moen.
(1) @pwoeM (2) @oil@d
(3)  royil@d (4) emom

76. snoglatilelio mv@dmilale oldl@ersialio
MOdMOMOR® @6 ?

(1) @ooeM (2) @olmd
(3)  royrl@d (4) emomd
77. @AM  HeMeSlello  m@MaVlAllo
adladldllelle muadmond ?
(1) @ooeM (2)  orilad
(3) enfleyy (4) eqvomm
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78. Who is intelligent in Maths and Hindi but | 78.
not in Science ?
(1) Anil (2) Sunil
(3) Biju (4) Arun
79. Find the word that cannot be made using | 79.
the letters of the word CARPENTER.
(1) NECTAR (2) CARPET
(3) PAINTER (4) REPENT
80. A group of 1200 persons consisting of | 80.

M A STER

teachers and students is travelling in a
train. For every 15 students there is one

teacher. Find the number of teachers in
the group.

(1) 85 (2) 80

3) 75 4 70

Directions : (Q. No. 81 and 82)

Arrange the words in the sequence in which

they occur in the Dictionary and then choose

the exact sequence.

81. (a) Bankrupt (b)  Bacterium
(c) Bathroom (d) Barber
Q) O @) @, ©
@ ®), @), @) ©
G) ®) ©), @, (@
@ ®) @) © @

ENG+MAL
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C OPY

@@O06M  dmemaslello  adlazlaflello
MAd@OMIV®mIo ag)MOGD MV IDMIIEd
@OLJOED®0 ?

(1)  @oil@d (2)  royril@d

(3) enfleyy (4) @O

CARPENTER o QI0#8I@ 688
@OHHUOETBUWD ©alCWIUSl ol HENBOHHIMD
AW EHIOD QLOHE) Ao ?

(1) NECTAR (2) CARPET

(3) PAINTER (4) REPENT

Sl j0lo iSlealo 688 1200 GaloSesIM
80) (Wind eEdmdl@d o
6).21Q) @M. 15 :)SldDH6) B30y Sl-ojd
agm  laigoem’  (iaf. ag)omo@

(aflenss Slaldaories  agepo
dHeN3laISloe) .

(1) 85 2) 80

(3) 75 4) 70

MIBCGUOETBA : (G.0103)BRMD 81 Mm@ 82 QIO®)

aflealensiaflad @amildlenim @oSlcrunom@ sl

®o6)Y

OBOSIOBIBIHHIM  QUOISNIH O

(@26 |SIOTS] LEWOIW HEMOO HEETSED .

81.

(a) Bankrupt (b) Bacterium

(c) Bathroom (d) Barber
1) (b), (@), (d) (¢)
(2)  (b), (d), (@) (o)
(3) (b)) (d), ()
@) (b), @), () (d)

P.T.O.
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82. (a) Wagonetle (b) Wannest 82.
()  Weakon (d) Wellington
1) (@), (), () (d)
2 (@, () () (b
(3) @ (d), (©), (b)
4 (), @) () (d
83. If the selling price of a commodity is 560 | 83.
with a profit of 12%, the cost of the
commodity is :
(1) 500 (2) 540
(3) 550 (4) 600
84. Whatis 1% of 2% of 3% of 60 ? 84.
(1) 0.00036 (2) 0.0036
(3) 0.036 (4) 0.36
85. Minu is the daughter of Seema. Seema is | 85.
the mother of Sija. Arun is the brother of
Sija. What is the relation between Arun
and Minu ?
(1) Father (2) Brother
(3) Grandfather (4) Son
86. Arunima ranked 10t from the top and | 86.
40t from the bottom in a class. How many
students are there in the class ?
(1) 48 (2) 47
(3) 49 (4) 50
ENG+MAL 22
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M
(a) Wagonetle (b) Wannest
() Weakon (d) Wellington
1) (@), (b), (c), (d)
2)  (a), (©), (d), (b)
®) (@) () (), (b)
4) (), (@), (o), (d)

a0y alpiaflend afllg aflel 560 ®lalwio
ISl 21960 @oEfled 12%-alymoanemeslad
@ aloaied alleioasy ?

(1) (2)
(3) 4)

500 540

550 600

60 -6 1% -6 2% -6 3% ag)® ?
(1) (2)
(3) (4)

0.00036 0.0036

0.036 0.36

Ma@IOS aHaoem’ almy. MIlRWIes
@OM@o6eM (Uld @I MIR®es
MBaNOBAMOEM. @oMJeMo AlmMiallo
moileles enicwo ag)Tmoeny’ ?

(1) (2)
() 4)

«;ro%db MEaNIBOM

@0o i

QB0

80} &Homilad @ooienia MHelad aflomgo
@O E®m 0o%slelo alloled allomgo
40-006@® 00H:1RRMONT. ag)(MOT @D
&M@ @O af)(® HISlhtd Oens.

(1) )
€) 4)

48 47

49 50
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Directions : (Q. No. 87 and 88)

Choose among the four alternatives which is
most nearly resembles the mirror image of the

given questions.

87. DL3N469F

(1) dqearmeaa
(2) F964N3LD
(3) H40eUEDI
(4) F469N3DL

88. NATIONAL

(1) JAVIOITAU
20 LAVOITVN
3) JANOITAWU
(4) LANOITAN

89. One morning after sunrise, Saneesh was
standing facing a pole. The shadow of the
pole fell exactly to his right. To which

direction was he facing ?

West
North

(1) East (2)
(3) South 4)

90. If sky is sea, sea is water, water is air, air is
cloud and cloud is river, then what do we
drink when thirsty ?

(1) Sky (2)
(3) Water 4)

Air
Cloud

-00o0-

ENG+MAL

C OPY

MAT M

MIBCGULOETBA : (3 10R|ETRUD 87 M@ 88 QLIO®)
87-88 ag)aml @.oloayemseleaocmonTiaio Iy
QoS00 Hmeposidieal (alalenflosnio ®oey
O BHISIOBIAHHIM OEDO V2 lH@iEd rilamio
DIOBIINMOISIDIQGOEIIE:S

87. DL3N469F

(1) Hqesrmeaa
(2) F964N3LD
(3) Hq49eUeEDI
(4) F469N3DL

88. NATIONAL

(1) JAUVOITAWU
(2) LAVOITVN
(3) JANOITAWU
(4) LANOITAN

89. &0} dlalmvo eoalleal qemE@®YSY
Gado  quMlad  &r) ®iemliem
@0EID}e1 0] M1MHE JdH @O 3mM)].
®emlom ol @oaem aleim]
QUWEDIOMEB:IE qVMlad of® Glvoe®
@8mModsil AFl@dBeYMY ?
(1)  BleB6) (2)
(3) omeHs (4)

alSlermmo0’
QISHE)

90. @DHOWO AVDY(BDIOEMEI@, VDB
LAIM06MEIB Relo QOW] @VE6MEIMd
Qo)  GOCRIMOOMEIE  emeLlo
MAEIIOHM BT BOaSIBHIBMUOD MOMD
Q)oY dhiSldego ?

(1) ®@HOo (2) lowy
(3) =elo (4) coeelo

-000-

P.T.O.
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